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QUESTION 1

Which of the following code segments correctly readies a database query, creating a valid statement handle and a result
set? Assume $dbh represents a valid database handle.

A. $sth = $dbh->prep_statement(SELECT * FROM aTable); $sth->execute_statement;

B. $sth = $dbh->prepare(SELECT * FROM aTable);$sth->execute;

C. $sth = $dbh->prep_statement(SELECT * FROM aTable); $sth->execute;

D. $sth = $dbh->prepare_statement(SELECT * FROM aTable); $sth->execute_statement;

Correct Answer: B

QUESTION 2

Consider the following lines of code:
$_="This is a test";

SN TNs* ([N 1%)/$2 $1/;

print;

What is the output of these lines of code?
A. h Tis a test

B. is This a test

C. i Thiss a test

D. his T is a test

Correct Answer: B

QUESTION 3

Consider the following program code:
@array = ("Y", "W", "X");

@array = sort(@array);
unshift(@array, "Z");
print(@array[0]);

What is the output of this code?
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AW
B. X
C.Y
D.zZ

Correct Answer: D

QUESTION 4

Which one of the following choices lists only valid expression operators?
A+ -]

B.***[]]

C.* [ ++ %

D. */ % -- **

Correct Answer: C

QUESTION 5

Which one of the following while statements uses correct syntax and expressions?
A. while {0} (print "OK");

B. while ($c = 99) {print "OK"}

C. while {$b eq "OK"} (print "$a++");

D. while ($_) Do {print "OK");

Correct Answer: B
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